#### ARKANSAS STATE HIGHWAY AND TRANSPORTATION DEPARTMENT TABULATION

DESCRIPTION: Form P-359 Rev. 6-23-2008

Contract for furnishing Guard Rail Maintenance from BID NO.: H-17-206P DATE OPENED: 6/14/2016

July 1, 2016 thru June 30, 2107, or to a maximum amount of

\$100,000.00, whichever comes first, with the option to renew. FOB: District 4 - Ft. Smith, AR PAGE: 1 of 6

DELIVERY:

			Custom Pavement Maintenance P.O. Box 435		Tri-State Guardrail & Sign Co., Inc. P.O. Box 1028	
l l		Van Buren, AR 72957		Collierville, TN 38027-1028		
			479-262-6160 (Clayton McGill)		901-221-0073 (Melynda F. Sammons)	
		ALL OR NONE:		XXX	XXXX	
ITEM NO.	QTY.	DESCRIPTION	UNIT	EXTENSION	UNIT	EXTENSION
1.	525	Guardrail (Section 1)	14.00	7,350.00	17.00	8,925.00
2.	375	Install Furnished Guardrail (Section 1)	10.00	3,750.00	8.00	3,000.00
3.	587	Guardrail (Section 2)	14.00	8,218.00	16.00	9,392.00
4.	200	Install Furnished Guardrail (Section 2)	10.00	2,000.00	7.50	1,500.00
5.	100	Guardrail (Section 3)	14.00	1,400.00	16.00	1,600.00
6.	75	Guardrail (Section 4)	14.00	1,050.00	16.00	1,200.00
7.	75	Install Furnished Guardrail (Section 4)	10.00	750.00	7.50	562.50
8.	104	Guardrail Back-up Plate	15.00	1,560.00	12.00	1,248.00
9.	126	Install Furnished Guardrail Back-up Plate	5.00	630.00	5.00	630.00
10.	131	Guardrail Line Posts (Steel)	100.00	13,100.00	90.00	11,790.00
11.	50	Install Furnished Guardrail Line Posts (Steel)	75.00	3,750.00	45.00	2,250.00
12.	6	Install Furnished Guardrail Line Posts (Concrete)	150.00	900.00	50.00	300.00
TOTAL:						

CARD: 25-03

TENTATIVE AWARD BY: Purchasing Committee DATE: 6/22/2016

AWARDED TO: Custom Pavement Maintenance (7/7/16) ITEM(S): Complete Bid

Renewed for the period of July 1, 2017 thru June 30, 2018 Renewed for the period of July 1, 2018 thru June 30, 2019 Renewed for the period of July 1, 2019 thru June 30, 2020 Renewed for the period of July 1, 2020 thru June 30, 2021

### 

DESCRIPTION:

Form P-359 Rev. 6-23-2008

Contract for furnishing Guard Rail Maintenance from BID NO.:			H-17-206P	С	OATE OPENED:	6/14/2016	
July 1, 2016	6 thru J	une 30, 2107, or to a maximum amount of					
\$100,000.0	0, whic		FOB:	District 4 -	Ft. Smith, AR	PAGE:	2 of 6
F			P.O. Box 435 Van Buren, AR 72957		Tri-State Guardrail & Sign Co., Inc. P.O. Box 1028 Collierville, TN 38027-1028 901-221-0073 (Melynda F. Sammons)		
		ALL OR NO	ONE:	Х	XXX	XXXX	
ITEM NO.	QTY.	DESCRIPTION		UNIT	EXTENSION	UNIT	EXTENSION
13.	1	Guardrail Line Posts (Wood)		100.00	100.00	65.00	65.00
14.	2	Install Furnished Guardrail Line Posts (Wood)		75.00	150.00	30.00	60.00
15.	130	Guardrail Spacer Blocks (Steel)		40.00	5,200.00	24.00	3,120.00
16.	50	Install Furnished Guardrail Spacer Blocks (Steel)		20.00	1,000.00	9.00	450.00
17.	2	Install Furnished Guardrail Spacer Blocks (Concrete)		50.00	100.00	30.00	60.00
18.	20	Guardrail Spacer Blocks (Wood)		50.00	1,000.00	18.00	360.00
19.	30	Install Furnished Guardrail Spacer Blocks (Wood)		40.00	1,200.00	7.50	225.00
20.	1	Terminal Anchor Posts (Type A)		100.00	100.00	500.00	500.00
21.	1	Terminal Anchor Posts (Type B)		100.00	100.00	600.00	600.00
22.	1	Special End Shoe		50.00	50.00	80.00	80.00
23.	3	Install Furnished Special End Shoe		20.00	60.00	37.50	112.50
24.	1,387	Removal & Disposal of Guardrail (Type A)		6.00	8,322.00	8.00	11,096.00
		TO					
						CARD:	25-03
TENTATIVE AWARD BY:				DATE:		<del>-</del>	
AWARDED TO:			ITEM(S):				

## ARKANSAS STATE HIGHWAY AND TRANSPORTATION DEPARTMENT TABULATION

**DESCRIPTION:** 

Form P-359 Rev. 6-23-2008

		DECORNI TION.				10	11111 -333 1CV. 0-23-2000
Contract for furnishing Guard Rail Maintenance from		BID NO.:	H-17-206P		DATE OPENED:	6/14/2016	
July 1, 201	6 thru J	lune 30, 2107, or to a maximum amount of					
		hever comes first, with the option to renew.	FOB:	District 4 -	Ft. Smith, AR	PAGE:	3 of 6
DELI\	/ERY:						
				P.O. Box 435			ail & Sign Co., Inc.
						P.O. Box 1028	
				Van Buren, AR 7		Collierville, TN 38027-1028	
			ALL OD NONE:	479-262-6160 (C			elynda F. Sammons)
ITEM NO.	QTY.	DESCRIPTION	ALL OR NONE:	UNIT	EXTENSION	UNIT	EXTENSION
HEWING.	QII.	DESCRIPTION		UNIT	EXTENSION	UNIT	EXTENSION
25.	1	Removal & Disposal of Guardrail (Type B)		8.00	8.00	8.00	8.00
26.	1,325	Furnish and Install Guardrail System (Type A)	)	20.00	26,500.00	24.00	31,800.00
	,				,		,
27.	1	Furnish and Install Guardrail System (Type B)	)	30.00	30.00	25.00	25.00
						<u> </u>	
28.	1	Guardrail Terminal Section		45.00	45.00	45.00	45.00
29.	1	Furnish & Install Bridge Connection - Curb		10.00	10.00	350.00	350.00
30.	1	Furnish & Install Bridge Parapet Wall		10.00	10.00	350.00	350.00
31.	1	Straighten and Align existing Guardrail Posts		100.00	100.00	18.00	18.00
00		Overed Deit Terreinel (Terre O) Overed Deit (40	\	450.00	000.00	105.00	050.00
32.	2	Guard Rail Terminal (Type 2), Guard Rail (12 Install Furnished Guard Rail Terminal (Type 2		450.00	900.00	425.00	850.00
33.	2	Guard Rail (12 ga.)	·)	200.00	400.00	215.00	430.00
33.		Guaru Kari (12 ga.)		200.00	400.00	213.00	430.00
34.	1	Steel Tube (6"x8"x54"x3/16")		90.00	90.00	150.00	150.00
						<u> </u>	
35.	2	Install Furnished Steel Tube (6"x8"x54"x3/16"	')	20.00	40.00	75.00	150.00
36.	1	Soil Plate (18"x24"x1/4")		40.00	40.00	65.00	65.00
			TOTAL			<u> </u>	
						CARD:	25-03
TENTA	ATIVE A	AWARD BY:		DATE:			
	AW.	ARDED TO:		ITEM(S):		-	
		- <u> </u>		(•/.			

### ARKANSAS STATE HIGHWAY AND TRANSPORTATION DEPARTMENT **TABULATION**

DESCRIPTION:

		DESCRIPTION:				Fc	orm P-359 Rev. 6-23-2008
Contract for furnishing Guard Rail Maintenance from BID NO.:			H-17-206P	С	DATE OPENED:	6/14/2016	
July 1, 2016	6 thru J	une 30, 2107, or to a maximum amount of					
		hever comes first, with the option to renew.	FOB:	District 4 -	Ft. Smith, AR	PAGE:	4 of 6
DELIV	/ERY:						
				Custom Pavemen	nt Maintenance		ail & Sign Co., Inc.
				P.O. Box 435		P.O. Box 1028	
				Van Buren, AR 7		Collierville, TN 3	
					layton McGill)	901-221-0073 (Melynda F. Sammons)	
	I 0 = 1 /		LL OR NONE:		XXX		XXX
ITEM NO.	QTY.	DESCRIPTION		UNIT	EXTENSION	UNIT	EXTENSION
37.	8	Install Furnished Soil Plate (18"x24"x1/4")		20.00	160.00	32.50	260.00
38.	4	Guard Rail Terminal (Type 2), Wood Posts (5-1/2"	x7-1/2"x45")	75.00	300.00	150.00	600.00
		Install Furnished Guard Rail Terminal (Type 2), W	ood Posts				
39.	2	(5-1/2"x7-1/2"x45")		75.00	150.00	62.50	125.00
40.	5	Guard Rail Terminal (Type 2), Wood Posts (6"x8"x	(6'0")	100.00	500.00	175.00	875.00
41.	1	Guard Rail Terminal (Type 2), Wood Posts (5-1/2"		50.00	50.00	75.00	75.00
42.	2	Install Furnished Guard Rail Terminal (Type 2), Wo (5-1/2"x7-1/2"x14")	ood Posts	40.00	80.00	37.50	75.00
43.	1	Pipe Sleeve (2" Std. Pipe x 5-1/2")		10.00	10.00	25.00	25.00
44.	3	Install Furnished Pipe Sleeve (2" Std. Pipe x 5-1/2	")	5.00	15.00	12.50	37.50
45.	1	Bearing Plate (8"x8"x5/8")	,	10.00	10.00	60.00	60.00
46.	1	Cable Anchor Bracket		10.00	10.00	175.00	175.00
47.	2	Install Furnished Cable Anchor Bracket		5.00	10.00	87.50	175.00
48.	1	Cable Assembly		150.00	150.00	175.00	175.00
			TOTAL:				
						CARD:	25-03
TENTA	ATIVE A	AWARD BY:		DATE:		_	
AWARDED TO:			ITEM(S):			-	

### 

DESCRIPTION: Form P-359 Rev. 6-23-2008

Contract for furnishing Guard Rail Maintenance from BID NO.:			H-17-206P	. [	DATE OPENED:	6/14/2016
July 1, 2016	6 thru J	une 30, 2107, or to a maximum amount of				
\$100,000.00, whichever comes first, with the option to renew. FOB:		District 4 -	Ft. Smith, AR	PAGE:	5 of 6	
ļ.		P.O. Box 435 Van Buren, AR 72957		Tri-State Guardrail & Sign Co., Inc. P.O. Box 1028 Collierville, TN 38027-1028 901-221-0073 (Melynda F. Sammons)		
		ALL OR NONE:	Х	XXXX	XXXX	
ITEM NO.	QTY.	DESCRIPTION	UNIT	EXTENSION	UNIT	EXTENSION
49.	1	Install Furnished Cable Assembly	100.00	100.00	75.00	75.00
50.	1	Offset Strut	50.00	50.00	60.00	60.00
51.	7	Install Furnished Offset Strut	40.00	280.00	30.00	210.00
52.	1	Guard Rail Extruder	950.00	950.00	1,200.00	1,200.00
53.	3	Install Furnished Guard Rail Extruder	100.00	300.00	600.00	1,800.00
54.	1	Furnish and Install Terminal System (Type 2)	2,500.00	2,500.00	2,700.00	2,700.00
55.	1	Guard Rail (Thrie Section)	400.00	400.00	300.00	300.00
56.	5	Install Furnished Guard Rail (Thrie Section)	50.00	250.00	150.00	750.00
57.	1	Guard Rail (Thrie Transition Section)	250.00	250.00	225.00	225.00
58.	1	Install Furnished Guard Rail (Thrie Transition Section)	50.00	50.00	112.50	112.50
59.	1	Guard Rail Connector Plate (Thrie Beam)	10.00	10.00	75.00	75.00
60.	10	Guard Rail Spacer Blocks (Plastic)	50.00	500.00	35.00	350.00
		TOTAL	:			
					CARD:	25-03
TENTATIVE AWARD BY:			_ DATE:		_	
AWARDED TO:			ITEM(S):			

# ARKANSAS STATE HIGHWAY AND TRANSPORTATION DEPARTMENT $\underline{\mathsf{TABULATION}}$

DESCRIPTION:

Form P-359 Rev. 6-23-2008

Contract for furnishing Guard Rail Maintenance from BID NO.:			H-17-206P	С	DATE OPENED:	6/14/2016
July 1, 2016	6 thru J	une 30, 2107, or to a maximum amount of				
\$100,000.0	0. whic	hever comes first, with the option to renew. FOB:	District 4 -	Ft. Smith, AR	PAGE:	6 of 6
DELIV	•		District 1 to Granding 7 to		•	
			Custom Paveme	nt Maintenance		ail & Sign Co., Inc.
			P.O. Box 435		P.O. Box 1028	
				Collierville, TN 38027-1028		
		479-262-6160 (C		901-221-0073 (Melynda F. Sammons)		
		ALL OR NONE:		XXX		XXX
ITEM NO.	QTY.	DESCRIPTION	UNIT	EXTENSION	UNIT	EXTENSION
61.	63	Install Furnished Guard Rail Spacer Blocks (Plastic)	40.00	2,520.00	17.50	1,102.50
62.	1	Guard Rail Spacer Blocks (Steel Tube)	50.00	50.00	115.00	115.00
02.		Cadra Hall Opasor Biosite (etest Fabo)	00.00	00.00	110.00	110100
63.	1	Furnish and Install Thrie Beam Guard Rail Terminal	250.00	250.00	2,300.00	2,300.00
64.	1	Metal Hinged Breakaway Post	200.00	200.00	325.00	325.00
		TOTAL		100,118.00		107,724.50
					CARD:	25-03
TENTA	ATIVE A	AWARD BY:	_ DATE:		_	
AWARDED TO:			ITEM(S):			